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Je ég

Tu pu
11 (masc) hann
Elle (fem) hin
IV/elle (neutre) pad

Le vouvoiement n’existe plus.

5 N ég
é) A mig
£ |D mér
G min
_IN vid
2 A okkur
=
= |D okkur
G okkar

IL/ILS (masc)

5 N hann
= A hann
'%D D honum
G hans
_ N peir

[D) <
5 g pgiam
~

G peirra

Nous vid
Vous pid

Ils (masc) peir
Elles (fem) par
Ils/elles (neutre) pau

QO(»|Z|Q|T|» |z

ELLE/ELLES (fem

n = hl’ln

IL/ELLE/ILS/ELLES (n)

0 =

hana

pad

henni

pad

hans

pvi

par

pess

par

pau

Pluriel

peim

pau

QO|»|z|Q|T|» |z

peirra

peim

QI|»|z|Q|T|» |z

peirra




